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Note : Four choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fili the circles. Cutting or filling two or more circles will result in zero mark in that question,

The Coordinates of the Origin are P ey s Lol ur 17U1r
@ o ® (1,0) ©  (0,0) ™  (o,1) D

Ut nchs LS dneer? SBE0G.& @)
A Point in the First Quadrant is characterized by the fact that both its coordinates are :
(A) Zero }* (B) Positive =t (C) Negative (& (D) Both Positive and Negative U it

Area of a circle with radius ‘r’is : Pe e T I (3)
@ A B 2@ © nA D  nPr
The number of medians in a triangle are : : gax)lﬂd’ ULl ..‘.J#.{t C))

Q) 2 (B) 4 © 1 (D) 3

D bl (W gLl alt| ()
A line joining one vertex of a triangle and perpendicular to its opposite side is called :
(A) Anglebisector ist¥s0 (B) Median by (C) Altitudé 1 (D) Side bisector b2

A Triangle containing three acute angles is called : : ‘LBU»:(«Um:W,AUUf L Seb (8)
(A) Acute Angle Triangle & 51155k (B) Right Angle Triangle &% st fF

(C) Equilateral Triangle &ASEUoyi(§slr (D) Scalene Triangle &b Wo i

Circles with equal Radii and equal Diameters are called : 3 u}’Z.sz I is B S ol | (D)
(A) Concentric Circles <515 » g (B) Semi- Circles <& flsisd

(C) Equal Circles &5 f 1 : (D) Concyclic Points bsis 7

In a Unit Matrix Diagonal Elements are : P B N L IS Gb(}/u{l ®

@ 3 ®B) 2 © 1 (») 0

M LIS LR I (@)

Two Matrices with the same order and equal corresponding elements are called :

(A) Equal matrices o (fol- (B) Diagonal matrices /§'(7s

(C) Square matrices 6%/ (D) Unequal matrices -1 (§sl+ &

Solution set of x2~9 =0 is : : §.¢«:J’b’xz- 9=0| (10)
) {9} B) - {+9} © {+3} (D) {3} ;

A Quadratic Equation has a degree : P ebnonbeble S| (11)
@ o @ 1 © 2 )] 3

Solutionsetof |x}=9 is : : q,..b:d’ﬂx|=9 12
@ 9 ® -3 @ o ) 9

L.CMof 3a% b2 ¢3,5a% b% c% is : i e 103 at b2 ¢3, 582 b3 ¢8| (13)
(4) 1582 p% 2 ®  152%p3 ¢S (© 15abc (D) 152233

Factorization of a*- 1 is : : q.dea‘- 1, 14
W(a-1)(a+1)(®+1) B)(a-1)(a%+1) (©(a+1)(a®-1) @) (a2+1)(a+1)

V11 is the example of : ‘Ldt‘*J Vi1, (15
(&) Puresurds (71006 f1 (B) Mixed surds (“1.£s6+55%

(C) Similarsurds 1., 12 (D) None ofthese ¥ 35 Sl
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Note: itis compulsory to attempt (6 -- 6) parts each from Q.No.2, Q.No.3 and Q.No.4 and Attempt any (03) questions from

36 = 2x18 Make diagram where necessary. -dﬁ::{ffcﬁndﬂﬂu% ‘ (Part-1) Jil 4> I

2_.2 ) :
Reduce to Lowest Term. xsy‘ 33; -u.‘.’i u.fu‘(}‘j"/"/"/ (i) 2/ s
1P Cy)=3y%+2+ 9 then fina p (o), b P(0) S P(p)=3y%+249 S (i)
Factorize, a®+a—3a2- 3 -2;67,‘" (iii)
Factorize. 8x3-y3 -EF (iv)
Find H.C.F. 6 par, 15 grs L (v)
Find L.C.M 32% b2 3 5423 5 2 Fin (vi)
Define L.C.M i P 5 (vii)
Factorize, , 5x% - 32x + 12 -EUA (viii)
Define Mixed Surds, &y S e (ix)
Define Diagonal Matrix and give an example. LUy Sy A EhH (i) 34U,
2 4 7 11 -5 2 oh
-Zr A~B ju A=[1 3 2 ,B=[2 4 ——6}/’7 (i)
45 ¢ 3 6 -1
2 4 7 11 -5 2
IfA=[1 3 —z] ; B=[2 4 —-6] thenfind A — B,
45 ¢ 3 6 -1 . . ]
1
&b 2A+3B ju A=[1 5 sJ B = [2 3 6J/7 (iii)
4.9 3 1 4 =32
2 3 4 01 5
IfA=[1 5 5] ’ B=[2 3 6Jthenﬁnd2A+3B.
4 9 3 1 4 -2
Solve. 3(x+3)=14+% 4 (iv)
Solve. 3(x=2)<2x+1 ZES (v)
Define Absolute Valye, ~§{541 j‘." J .:—»::" L}"b’ (Vi)
Solve by using Factorization method. 3x*—8x-3=¢ .."éfdf‘gd, (vii)
Solve. (Z~3)* = —34% -z (viii)

-é/r}"‘agJ K Inf¥xP+Kxt (5= 0 =tls x=30 (ix)
If x = 3 is a solution of the equation x% + Kx + 15 = 0 find the value of K,

Find Angle ‘b, 3450 L= D (i) 44y,
b
Define Parallel Lines, Ly P (i)

Find Pairs of Alternate Angles. ..qfr;“” IR LYl ol (iif)

-e-mAC =3.9 cm sim AB'=4.3 em,mBC = 5.4 cm FU L LABC e (iv)
Draw a Triangle ABC in which m BC = 5.4 cm,m AB = 4.3 cmandm AC = 3.9 cm.

Define Centroid of the Triangle. E A LS L s (v)
Write Formula of Pythagoras Theorem, -u.‘.’f U ki F 1 L (vi)

~3=3 b=4 o=? whomlisinl siap Lyt 8 R (1))
Find the third side of Right Triangle with Legs ‘a’ and b’ and Hypotenuse ¢ = 2=3 p=4 c=7?.

, - RG34 Jum R 16 2GS I G Kt (viii)
Find the Altitude ofa Triangle whose base is 16 cm and area is 34 cm?,

Find the distance between the given points. (7,-2),(-2,3) _"épb’.bb'uyu LLG;ZE:: (ix)
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o b ++b? - a? . ) ,

(4) Rationalize : —_— : Z,lzu"l: f@/ () 54U
b - vbZ - a? ‘

(4) Find the H.C.F by division method. ek £ e (2)

(x3—x2+ x—1 ),(x3—-x2—3x+ 3)
(4) FindL.C.M by Factorization. ' gt i (1) 820

4 4
X +x3—6x2,x —9x2,x3 +x2—6x

3x+ 4 +1 5
(4) Solve : e T S (@)
5 3 3 * ?
(4) Solve by using Quadratic Formula. -é S i J ‘f G 35 () 74Jr

(x-1)(x+3)-12=0

(4) e (anYLiB=[F 2] a=[3 S ()

IfA=[:; 2] ,B=[’; i]thenﬁnd(AB)_l.

(4) Use Crammer Rule to solve the Simultaneous Equations. ..2?::( LU e 3 pL /.’./ (&) 84Jir
x-3y=5,2x-5y=9
() S b LA 503 & 6 et e b ok L («)

Drgw an Equilateral Triangle each of whose side is 5+3 cm. Draw its Medians.

(4) -c‘_w{;ljlﬂlﬁ'-{l,fg{:f.?-w( 39 1 (736 <15 LS L s L] (&) 94U
The sides ofa Triangle are 15 cm, 36 cm and 39 cm. Show that it is a Right Angle Triangle.

@ sEkA C(4,3) 4 B(6,2) « A(2,4) 18 st (@)

Show that the points A(2,4) , B(6,2)and C(4,3) are Collinear.
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Note : rour choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

Points which do not lie on the same straight line are called : A SR BEXYI N AT 3T =X 14U
(A) Non-Collinear &¢%Z (B) Collinear &¢F (C) Equal (s (D) Zero 0
A point in 4th Quadrant has its ordinate : : ‘48:1.:43 d/ &;’.‘:;‘ﬂ&.&‘ﬁg Is e é/ii, @
(A) Positive =t (B) Negative d"' (@) Zero }# (D) One i

Area of a square with side ‘S ’is ¢ it i hen’s’ é‘ K8, (3

@ s (B) 48 © 258 (D) s?

The number of Perpendicular Bisectors of the sides of a triangleis :  : q.aml»"'J UMl L e’ @
) 4 ® 3 © 2 () 1
: 4_t'u¢f il ui ¢ :Lé* e yuLilals (5)
A line joining one vertex of a triangle to the midpoint of its opposite sides is called :

(A) Anglebisector il K51 (B) Altitude {45/ (C) Median - 2b-s (D) Side bisector st ¥
An Arc greater than a Semi-Circle is called : : ;.Jll;f S Uheainid]| (6)
(A) MinorArc »2°¢ (B) Major Arc » 20?7 (C) Chord 75 (D) Diameter ya
Iftwo Angles are Supplement of the same angle, they are : : wLno:?u:f..‘—ff.“f A:&,:Udh.{lg:u 2wl D

(A) Equal (sb+ (B) Unequal (o

(C) Adjacent Angles & sl (D) Transversal Angles < siJs\5

If A= - A then A is called : | it Adn A= -A SI| @
(A) Symmetric Slatie (B) Skew-Symmetric }5Liiie i

© Transiyose PRy (D) Square matrix ¢,

In a Square Matrix, the number of Rows and Columns is : : :;.Jml»" J u/ Eonl a5 S A6 & ri @
(A)  2x3 ®  3x2 © 2x1 (D)  same ULf

Factorization of x*~ 16 is : 5 gm}/"Z_IZIL x*=-16] 10)
A (x-2)(x+2) ® (x-2)?

© (x=-2)(x+2)x-4) D) (x=-2)(x+2)(x%2+4)

Solution setof (x —2)%=16 is : P e SE(x-22=16| 11
A  {-6,2} ®) {6,-2} © {-6,-2} (D) {6,2}

Solutionsetof | x | =3 is : sV | x| =3 12)
QA 3 ® -3 (¢} &3 (D) 0

H.C.Fof 6pqr,15qrsis : : 4_');'!)&( 6par,15qrs| (13)
(A) 3qgr (B) 3pgr © 3 pgrs (D) 15 pars

If x—aisafactorof P(x),thenP(a) : : b’nP(a)?m}ﬂ:Zb’P(x),x—aﬁ 14)
W o ® 1 © -2 ®

a®~3ab(a-b)—b3=17: : = 3ab(a—b)=b3=2| (15)
(A 24 ®  (a+b)?® © - @™ (a-b)?
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Note : Itis compulsory to attempt (6 -- 6) parts each from Q.No.2, Q.No.3 and Q.No.4. While Attempt any (03) questions from
Part il. Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 l Make diagram where necessary. ,%f&f‘}andﬂfutﬂ ‘ I (Part-I)  falaa> ]

Reduce the Rational Expression to Lowest Terms. Sc;__sddz 4[/;{#’@'&@)’/"[)7&% (i) 2/
Factorize. 8x> + 27y3 _?f_f(jf (ii)

Rationalize the Denominator of T.l_vg ; -’gl'/.g}j’t‘ :(L/L 4——1—4_3 (iiv)

Factorize. y 4 -z 7 (iv)

Factorize. x>+ 27 _é‘j /’ {v)

Define Linear Polynomial. -é\.{’/‘?({‘})ﬁ‘(&})w{ (vi)

Define Highest Common Factor (H.C.F). g e (vil)

Find L.C.M by Factorization. x3+64,x%-16 S P (viii)

Find the Square Root of : 16x% + 24 xy + 9y* . ke B An (i)

What is meant by Transposition? feily Vet (i) 34U
Solve. lx+1]=5 S (i)

Solve. 3(x+3)=14+x ) (i)

Solve by using Factorization Method. (2x+1)(5x-4)=0 ESF 2 (iv)

Write the formula to find the Perimeter of Rectangle. EL Ikl S 1 S (v)

Solve by using Factotization Method. 2x = —i‘ +3 S GF 2 (Vi)

IfA= [‘: Z:' then what is the additive inverse of ‘A’? ..Z.:(:L“J)Qd‘? ¥ A In A= [‘cl Z] A {vii)

Find the Matrix Product. [—i :g] [—g _1] <£(:“”v/"g}’bhfux‘§' (viii)

Write the Man'iccs in the form of Linear Equation. _g 1] [;] = [_i ] -'.,é Vs ‘.ﬁ J whslaGok Juds (ix)

Define Acute Angle. e (i) AUy

sl L i L ugsin G (b) Lot ddus @ SEILES (i)
Look at the given figure and answer the questions given :
(a) The pairs of alternative interior angles Snd(’/ S
(b) The pairs of corresponding angles. 4,,.(2(;6’ .
2%
Define Median of a Triangle. zﬁ..y}@w»éw (iii)
Define Tangent of the Circle and draw its diagram. -é—lkg,p ul"éuy /7 d/u’ wle s (iv)

o 8 QU S L I st D28 AVISS T (V)

Find the Hypotenuse of the Right Isosceles Triangle each of whose legs is ‘P’

Write down the formulas for Area of Circle and Area of a Semicircle. -ﬂ JU}'/GL,}'J Kz_/’b_wulg"/ ¥ i3 (vi)

Define Sphere. oy S (vii)
0L B A1 S i T 6 (-8, -8 BB LGA G (Vi)

Describe the location of the points (-8 ,~8 ) on the number line and in which Quadrant it lies.

Find the distance between the given two Points. ~ (2,1),(~4,3) ~£(J" Lol n bW :Jé.f.z_.,J (ix)
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(4)
4)

4)

4)

4)

4)

4)

Rationalize : jats-ya 3 : ’9&&" 6/ F () 5/db»il

va+3++Va-3
Factorize. xu—y12 -édy? ) i
Find the required Polynomial. _2;‘:(,'4/3 7 /:/ q,lkf ) 8/
2
A=x"-5x-14, H=x-7
L=x>-10x*+11x+70, B=?
4 .
Solve : 3x5+ -.x:;l>1-—x';~5 éd’ ()

..g_{f()’")l,wl -¢-156 »,4/"'_/"’(9 ¥ sl il :JJ"V» ) 740
The product of two consecutive positive numbers is 156. Find the numbers.

-ér:"’A"A ”‘ér’h'A'ld:é’Q/’KA 57 A= [g‘ i] /’} ()

il ] then find A™ and also find A™'A.

TR e [5 4

-u:/t)’fu;l;b-ﬂ)lj‘?(?(d:g@.)[,/ﬁf I 8AJir

Use Cramer’s rule to solve the given Simultaneous Equations.
x+2y=3
x+3y=5
€S 9ne K 6 B LK AL )
Construct a Rectangle whose one side is 6 cm and an Adjacent Diagonal is 9 cm.
-Ef.:r}"'fi Kb - 48cm CHI KU1 14cmUios Kol G L7 b F Ll (DD 9/Jir

A Cone has a circular base of Radius 14 cm and Height of 48 cm , Calculate the Volume

of Cone.
sl N SES Sy St Fun €(9,1) s B(5,5) A(1,1) ynlal ()
The Vertices of a Triangleare A(1,1) , B(5,5)and C(9,1),Provethe

Triangle is a Right Angle Triangle.
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